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[Time: 3 Hours]
Please check whether you have got the rlght question paper.\ 4

N.B: 1. All questions are compulsory.
2. Figures to the right indicate full mark

Q.1 A) Select the right answer and rewrite the statement {

a) January 1% 1991
¢) July 24" 1991
2. Social infrastructure refers to
a) Agriculture
c¢) Real estate S
3. is related to girls edu
a) Sarva Shiksha Abhiyan . -
¢) Beti Padhao, Beti Bachao: -
4. Farmers need short-term loans fo
a) purchase of seeds o
¢) to meet consumption needs

a) Government of Indla »
¢) NABARD Sl

a) lack of gradlng i
¢) lack of storage famhtles
7. Dlsmvestment refers: to

c) sale: of prlvate Securrttés
8. Industrral po]lutlon control is a
a) State’ subject 3 e

) Conourrent subject d) None of the above
49, SIS sectors are 1dent1hed .f oF-promotion.
a) To arism b ‘Medical tourism

© ¢ both a) and b) S0 Yo .d) none of the above
o 10, Narasimham Commlttee recommended
. “a)introduction of modern technology b) consolidation of banks

S lrberahzatlon or bankmg sector d) all of the above
- 11.Indian’ mouey market is regulated by .
Tt aythe Rll A N b) SBI
¢)SEBL | A d) LIC
12, Equity market is assocrated with .
. a) Government Securltles b) private securities
: © ) 1ssue of ﬁ‘esh capltal d) sale of old shares
Q 1% B) State Whether the followmg statements are True or False (Any 10) 10

' NEP was launched by Mr. P.V. Narasimha Rao.
: 2 Invest in India is to attract foreign investment.
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Q.2

Q3

QA4

Q.5

Q6

interventions. A
Central govemment allocation to agriculture declined

Credit provisioning for agriculture is adequate in India’ ¢
Agricultural marketing infrastructure is inadequate in India
Disinvestment in India is mainly governed by defic g de’ ati
National Green Tribunal is responsible to mamta' :
FDI flows 1nto serv1ces sector are not satlsfactor

S R

Answer any two of the following: ;
a. What is liberalisation? Explain, the différ t pohcy measures undet
liberalise the Indian economy sin

b. Explain the role of social infrastr > re]

c. Explain any seven Sustamable D elopme

Answer any two of the follow 15
15
15
a: EXplam the
b Explam the
20

Structure of Indxa caﬁltal market
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